St Olaves / Newstead

Homework 11 Answer Key

Comprehension
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11. A, C
12. A, D

AREA AND PERIMETER

Below are two similar triangles.
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The area of triangle A is 20cm?
Work out the area of triangle B.
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Below are two similar pentagonal prisms.
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The volume of prism A is 15¢cm?
Work out the volume of prism B.
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Below are two similar parallelograms.
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The area of parallelogram A is 28cm?

Work out the area of parallelogram B.
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Shown below are two mathematically similar shapes.
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The area of shape B is 150cm?

Work out the area of shape A. f’ry—/ﬂ > A b
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Shown are two logos that are mathematically similar.

Not drawn accurately
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The area of the smaller logo is 20cm? Aret. X 9

Find the area of the larger logo.
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Perimeter = 143+ 143+ 5.6+ 5.6

= 39.8 cm

Perimeter=2nr=2 x m X 2.2

22
= ?n = 13.823....cm

Perimeter = 11.5+ 5.6 + 5.6

= 22.7 cm
Perimeter = 135 + 200 + 200 + 45 + (135 — 45)

= 670 cm

Perimeter = 12 + 13.4 + 6 + (ix 21 X 6)

=314+4+31=4082.. cm

Verbal Reasoning
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